DAIWA Adjuster Bolts

EWD-C lll/wD-Clil- S&

ARSAMRT YV TREZA

S 24 JIEHEMREEEICL > THEILEBDTY,

WDCII - S & H&EFE T,

EWwWD-C-RE

7

ASAMT NV TREZAT

Z YT LERMICEERFTOETOTTIAT —

EELIYF XD LERA,

7’

!

HD-D VB 7T v A Z2—KR)V b
ZECLNIVBELNERTT .

L2

e W&

o+ — VATV LR

—RIV bk

fHEE (M16) 2t. (M20) 4t

7 B

RIVE «Fv b SUS304
T SUS304R T L A&
REWE /N\IR—}

ZALTT7 KTV
313662

o =ffiy O X — FMLER

MR E
% =B

ZM FC1584M

=1
RELE

=lyax—+

M16) 2t, {M20) 4t
RIVhFyh SS400(SWRCH)

F=IVATV LA
i %

il

=7 RA- MR
i &

iy

FE7E(mm)

D

L1

L2

WD-CIII16 X 100SUS

5,110

n
WD-CIM6X 100

1,730 | M16X2.0

100

141

22

80

WD-CIM6X130SUS

5,190

WD-CI6X 130

1,790 | M16X2.0

130

171

22

80

WD-CIM6X 150SUS

5,580

WD-CII16X 150

1,810 | M16X2.0

150

191

22

80

WD-CIIT16X 180SUS

5,990

WD-CIII16 X180

1,880 | M16X2.0

180

221

22

80

WD- CIIT16 X 200

1,940 | M16X2.0

200

241

22

80

WD-CIM20X 100SUS

6,550

WD-CIM20X 100

1,960 | M20X2.5

100

146

22

80

WD-CIT20X 130SUS

6,680

WD-CIM20X 130

2,050 | M20X2.5

130

176

22

80

WD-CTM20X 150SUS

6,930

WD-CIM20X 150

2,100 | M20X2.5

150

196

22

80

WD- CIT20X 180SUS

1,180

WD-CI120X 180

2,160 | M20X2.5

180

226

22

80

WD- CII[20X 200

2,380 | M20X2.5

200

246

22

80

oA — VATV LA

[RECES
8

1t

RELE

RIVk «Fv b SUS304 ¥ &E
FI SUS304 ATV LABE
SN—Eason7Lydh
INIR— B

o=ffiy O X — MLEH

HEE 1t

RV« Fy b SS400(SWRCH)
TM SS4008E

SN=-%% soo07LydL

RELE

=@Eyax—+

A—=IVATV LR
i &

=iy 04— MBS
7 &

5
L

E<1& (mm)
L1 L2 |

oo
WD-C-R12X 50

1,380 |[M12X1.75

50

88.5

22

63

WD-C-R12X100SUS

3,800

WD-C-R12X100

1,380 |[M12X1.75

100

1385

22

63

WD-C-R12X120SUS

3,850

WD-C-R12X120

1,390 |[M12X1.75

120

158.5

22

63

WD-C-R12X150

1,610 [M12X1.75

150

188.5

22

63

WD-C-R12X150SUS

3,950

WD-C-R16X 65

1,680 |M16X2.0

65

106

22

63

WD-C-R16X100SUS

4,560

WD-C-R16X100

1,680 |[M16X2.0

100

141

22

63

WD-C-R16X120SUS

4,640

WD-C-R16X 130

1,710 |M16X2.0

130

m

22

63

WD-C-R16X 150SUS

5,030

WD-C-R16 X150

1,760 |M16X2.0

150

191

22

63

WD-C-R16X 180SUS

5,440

WD-C-R16X 180

1,810 |[M16X2.0

180

221

22

63

WD-C-R16 X200

1,880 |[M16X2.0

200

24

22

63

WD-C-R20X100SUS

6,000

WD-C-R20X100

1,880 |M20X2.5

100

146

22

63

WD-C-R20X130SUS

6,130

WD-C-R20X 130

1,990 |M20X2.5

130

176

22

63

WD-C-R20X150SUS

6,380

WD-C-R20X 150

2,050 |M20X2.5

150

19

22

63

WD-C-R20X180SUS

6,630

WD-C-R20X 180

2,100 |M20X2.5

180

226

22

63

WD-C-R20X200

2,280 'M20X2.5

200

246

22

63

o 48 : RJ)V FSWRM, ZMSPCC
Wl B

AR
(M12)

e 1=/ OXyFUES

— B -
B js
-
9 [EEN
. z2¢ [~ 7
1 ; —C& 8 1
1Y AY = ,,%
1Z/04y FinE FEF7E(mm)
i % L2 H|A|B
D-D IV 12X100 | 100 38 70 H2X1.751100 1145 (6.5)|(@15)| 19
D-DIV12X120 125 12X1.75 | 120 [134.5((6.5)|(p15)| 19
D-D IV 16X100 | 150 16X2.0 | 100 [119 | (9) |(p20)| 24
D-DIV16X130| 195 60 70 16X2.0 | 130 149 | (9) [(p20)| 24
D-D IV 16X150 | 220 16X2.0 | 150 [169 | (9) |(020)| 24
v
toy ©-187

Heblmt P18 PR

>Te7GSEO  FEER D NIN U )

O - M

1o+

(3]

g5

Sl - EMRESEH PR BN L\ St



